E.g. 1.
$$y = 2x^{\frac{3}{2}} + 3$$
. over $[0,8]$

$$\frac{dy}{dx} = 2 \cdot \frac{3}{2} \cdot x^{2} = 3x^{\frac{1}{2}}$$

$$8$$

$$\text{length} = \sqrt{1 + (3x^{\frac{1}{2}})^{2}} dx$$

$$= \int_{0}^{8} \sqrt{1 + 9x} dx \frac{du}{9}$$

$$\left(\ln\left(u\right)\right)^{2} = \frac{1}{u} \cdot u^{2}$$

$$y = \left(\ln \left(\frac{\pi}{4} \right) \right)$$
; $\left[0, \frac{\pi}{4} \right]$

$$\frac{dy}{dx} = \frac{1}{ne(x)} \cdot \left(nec(x) tan(x) \right) = tan(x)$$

$$\int_{1}^{\pi/4} 1 + \tan(x) dx$$

trig identity
$$\int_{\pi/4}^{\pi} \pi/4$$

$$= \int_{\pi/4}^{\pi/4} \int_{\sec(x)}^{\pi/4} dx = \int_{\pi/4}^{\pi/4} \int_{\sec(x)}^{\pi/4} dx.$$

=
$$\ln \left| \operatorname{Sec}(x) + \operatorname{tan}(x) \right|^{\frac{TL}{4}}$$

=
$$\ln \left| \operatorname{Sel}\left(\frac{\pi}{4}\right) + \tan\left(\frac{\pi}{4}\right) \right| - \ln \operatorname{Sel}(0) + \tan(0) \right|$$

$$L = 2 \cdot \sqrt{1 + (2kx)^2} dx$$

$$= 2 \cdot \int \sqrt{1 + 4 k^2 x^2} dx$$

So,
$$k = \frac{h}{w^2}$$
. Plug in, we get

$$L = 2 \cdot \int \sqrt{1 + 4 \frac{h^2}{w^4} x^2} dx$$